Bellwork  Alg2  Tuesday, January 15, 2019

1. A company wants to maximize their Revenue. The following equation models their Revenue as a
function of the price they charge: R(p) = -1.5p% + 165p + 74,350

a) Find the price they should charge to maximize their revenue.

b) Find the maximum revenue rounded to the nearest hundredth.

2. Write the equation of this polynomial: ”R

3. State the end behavior for each polynomial.
a) y=-12x>+3x°-9x2 + 8x— 15 b) y=-x3(2x-7)2(8 - x)(5x + 1)3

4. Given 2 and -3 are zeros, find the remaining zeros using division.
y=x*+x3+3x2+9x - 54

5. Rationalize each denominator. Simplify your answer.
g 3608 - b, —=l4

a5 9~ /T

6. Simplify each. Make sure denominators are rationalized.
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7. Write the equation of each.
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1. A company wants to maximize their Revenue. The following equation models their Revenue as a
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3. State the end behavior for each polynomial. - [ +
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4. Given 2 and -3 are zeros, find the remaining zeros using division.
y=x*+x3+3x2+9x-54
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5. Rationalize each denominator. Simplify your answer.
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6. Simplify each. Make sure denominators are rationalized.
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7. Write the equation of each.
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